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ENGLISH VERSION

Instruction : Attempt all questions.

1 (a) Explain : 10
(1) One Tailed and Two Tailed Test.

(2) Null and Alternative Hypothesis.

(b) From the following data, test the hypothesis that, 10

population mean 1s 42.

Salary Rs.| 0-10 [ 10-20]20-30 |30-40 | 40-50 [ 50-60| 60-70 | 70-80

Worker 50 | 100 | 150 | 200 | 200 | 100 | 100 | 100

OR
1 (a) Explain : 10
(1) Degree of freedom and confidence level.

(2) Type I and Type II Error.

(b) From the following data, test the hypothesis that 10
(1) Population means are equal
(2) Population S.deviation are equal.

n =1000, X, =47, S, =28

n, =1500, X, =49, S, =40

2 (@) Test at 5% level that, population means are equal. 10

Xy:| 28 | 31 | 26 | 27 | 23 | 38 | 37
Xo:| 37 | 42 | 34 | 37 | 35 - -
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(b)

2 (a)
(b)
3 (a)
(b)
3 (a)

Test at 5% level of significance that, population

variances are equal.

Xy 20 |16 | 26 | 27 | 23 | 22 -
Xo:| 27 | 33 | 42 | 35 | 32 | 34 | 38

OR

From the following data, test the hypothesis that,

population mean 1s 66.

X : 63, 63, 66, 67, 68, 69, 70, 70, 71, 71

(1) Difference between small sample and large

sample test.

(2) n=25r=042 test at 5% level, that

population correlation coefficient is 0.5.

Define (Chi)? distribution and explain uses of it.

Fit Poisson distribution to the following data.

X:| 0 1 213 (4|5 ]6
f:135]140(19| 2 (0] 2|2

OR

10

10

10

Test the hypothesis that, proportion of boys and girls 8

in the family are equal.

No. of boys 0 1 2 3 4

Family 32 178 | 290 | 236 64
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(b) Test the hypothesis that both the attributes are 7
independent at 5% level of significance.

Committed Not
mistake committed
Trained 70 530
Untrained 155 745
4  Perform two way ANOVA Table. 15
P O R S
A 120 14 26 20
B |23 20 20 29
C |26 17 32 29
OR
4  Analyze the following data completely. 15
A(12) | D(20) | C(16) | B(10)
D(18) | A(14) | B(11) | C(14)
B(12) | C(15) | D(19) | 4(13)
C(16) | B(11) | A(15) | D(20)
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